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Questions 1 to 5 are 1 mark each.
Questions 6 to 9 are of 2 marks each.
Questions 10 and 13 are of 3 marks each.

SECTION-A (5x1=75)
Choose the correct answer.( 1mark for each correct answer .)

Which of the following is neither prime nor composite number?
a) 0 b) 1 C) 2 d) None of these
How many prime numbers in between 1 to 100?
a) 25 b) 50 c) 30 d) None of these
Unit of perimeter is
a) Cum b) sq.m c)m d) None of these
Perimeter of a rectangle =
a) 2xX (L+ b) b) (Ixb) c)4 xside  d)side X side
The number with unit digit 0 or 5 is divisible by.

a) 2 b) 10 c)5 d) None of these

SECTION-B (4%x2=8)

Find the perimeter of the triangles having the sides are

8cm, 10 cmand 12 cm

perimeter of the triangle = 8410+ 12 = 30cm (2)
Multiples of 6 are 6, 12, 18, 24, 30, 36, 42, 48, 54, 60, (1)

CL_IV_PERIODIC_TEST_2_MATHS_MS _1/3



All are even. (1)

8) Prime factorisation of 64 by factor tree
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9) Perimeter of figure= Sum of all sides
perimeter of figure=64+6+5+54+ 11+ 12

=45___(2)

SECTION-C (4% 3=12)
10) HCF of 8 and 12.
Prime factorization of 8is (2x2x2) (1)
and 12is 2x2x3) (1)
8 and 12 have common prime factors
Hence,the HCFof8and 12is2x2=4. (1)
OR
Find the LCM of 4 and 6 by common multiples.
multiples of 4 = (4, 8, 12, 16,20,24,...) (1)
6=(6,12,18,24,....) (1)
The common multiples from the multiples of 4 and 6 are 12, 24
Smallest common multiple of 4 and 6 is 12.
Least common multipleof 4and 6 =12. (1)
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11) Test of divisibility
in each box (¥2 mark for each correct answer (YES) answer)

Number | 2 3 5 6

560 YES NO YES NO

625 NO NO YES NO

384 YES YES NO YES
12) Side = 15cm

Side of a square is s=15 cm.

Perimeter of square = 4xside__ (1)

=4x15=60cm - ___ (2)...

13) Find the areas of the following figures by counting square: ([]=1 square cm)
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H ,] = 20sq.cm___ (1)
8sq.cm (1) 35sg.cm_ (1)
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